N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

%] 1% %] F %] F
x . X < B4
[=} I . =} [=} [5} I
St ; g S 8
10°F ; o 2if 2
E “ = 2 £
[ ! o
L 10* 3
10°F - 10°
L : 10°
10°F
F 10? :
. : A
10°E- 10° Teraeeretaerecie
o 'DdM_n%EFn'_TT_n_I_e"l—aseme_|er Lt HH H H ”” '
S DQM _m FiLTTiRetrainvzﬁwplﬁﬁner
o (TR ; ‘uu| TN I\”“‘”H“"\‘ e ‘ummumw: "Hl”'v”‘l\'u Tl m ”H ‘H HHHH
; ‘ i i .H .‘ . ‘ A H ‘
sEEEEERN HLEL 1 \MHH\ huh EEEEEE. il HH M alll] HHH: il
o T T T T o D T T 0.950 re
"=25-20-15-10-5 0 5 10 15 20 25 525—20—15—10 -5 '=25-20-15-10-5 0 5 10 15 20 25 =25- 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L L 2
[=} [=} [=}
g s o
[ Q Q
) &
= & Siot
=
=]
1 =

HHHHHH*HHH*%HHIHHH

=30 -20 -10 O 10 20 30 =30 -20 —10 0 10 20 30 =30 -20 -10 O 10 20 30 =30 —20 —1 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)




	Contents
	Page 1


